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1. FHAFERERE-FIEHERUVITRARE-ER

it H X o) IEAERL R I BR AL BB
1 ¥y % 3,500 3,500
A AT % %l 6% 6%
9515 A (50f& 1 - 50 ) 3,000,000 3,600,000 3,600,000
851k N (10f& M4 - 50 Ai) 1,750,000 2,100,000 2,100,000
%= ¥ |TEEN (LOEMEE 50 N LLT) 410,000 492,000 492,000
67515 N (LEH 8 - 50 N i) 400,000 480,000 480,000
7 ESRL % [5EEAN (UEME-50 ALLT) 160,000 192,000 192,000
45 VEN (LT 50 A 8) 150,000 180,000 180,000
#I3FEANQAT T HE-50 AL T) 130,000/ 156,000 156,000
A 25 EN (T M LR 50 A #8) 120,000 144,000 144,000
15BN (EREES D5 NEE) 50,000 60,000 60,000
: NI 6.0% 8.4% 8.4%
x%éﬁ)lkm’i\ V266710 H 1 Elj?\%%ﬂlmﬁwﬂ (9.7%) (19.1%) (19.1%)
30 H £ CITBAMA L 7= 4R il
[i5] 72 PEAL 1.4% 1.4%
5 S - 0~2% 0~2%
1#E (50cc L) 2,000 3,000 2,000
JE Bk | 278 & (50cc B ~90cc LA T) 2,000 3,000/ 2,000
FSH |9 H (90ccB~125cc LA ) 2,400 3,600 2,400
=h— 3,700 5,550 3,700
21 (125cc#B~250cc Ll ), hL—F— 3,600 5,400 3,600
3 3,100 4,650 3,100
fi 3ty <57 > 3,900/ 5,850 3,900
EEI 7,200 10,800 7,200/
2 H B HRL 2 H % H <> 10,800 16,2001 10,800
il i B =3 5,500/ 8,250 5,500
R <H > 6,900 10,3504 6,900
HZH 4,000 6,000 4,000
& o 3RS 5,000 7,500 5,000
B HEH 3,000 4,500 3,000
R <> 3,800 5,700 3,800
%= L 3,600 5,400 3,600
SN A T JEBHEZEH] 2,400 3,600 2,400
HEhH sanlih 5,900 8,850 5,900
28w /N H B # (250cc#) 6,000 9,000 6,000
M7= X2 F 6,552F9/1,0004
R HHORA -
TRABL +- oD Hi s
5 13 i - | 0.3%| 0.3%

SUE N T R 1 2 D TR AL N X 3 A e 0D 4 B & T PN e B,

*5AITAE10A 1A LK, A BhEEEUSRL GERL 23BE Ik SH, 8% B BhER (BREZVERES) AV A,

% [ B BB (BRETMERES]) OBLEIT, B0 ORRE FLUEAE Rl BE 45 |2 U TSI A 0~2 %,

% [ B L O3 LA D8R F B BLoD < > 13, FRK284FE4 A 1 H LIRS T BB Sk i | 23

*ILRL284E4H 1 A LA OB G M 005 | — & OPRE FLE 3 AR HEI 2V LB 0O B4R B | 2 0D AWk Bl 6 41 1
F7, WO TEMmPEEE L CODI3EA R UZ B 2T, FiBi R 04220 % O H LR R 216 H,

R RI AR FE, ERR294E BE LA I H 7= 70372\,
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2. TMAFEENETDORAHER

[EPNGHEE 15N TR

S A _IERRBLILYE H)EEI(T-H)

£ PSR | SR | 15 | 25 | 3% | 40 | by | 64 | T | 8% | 9%

Bl | BROH | ABOR | BRI | BR[| B | BRH | B | B | B | B B B BA

(1) | Bisg | fkd ] (M) (T-H) | BiR | FiR | Bl | Bl | Bl | Bl Bk | Bk | FiR
FLOWE | 3,500 FEHE | 14k | 350(+420)| 350(+210) 50| 120 130| 150| 160| 400/ 410/ 1750/ 3000
B OfE | 3,500 AEHE | 28K [450(+320) [ 420(+190) 60| 144 156| 180 192| 480 492| 2100/ 3600
/AN 8 | 3,500| AEHE [ 2#% | 450(+320)] 420(+190) 60| 144/ 156| 180 192| 480| 492| 2100/ 3600
JE I 3,500 FE%E [ 2f% | 450(+320) | 420(+190) 60| 144 156| 180 192| 480| 492| 2100/ 3600
= | 3,500 FEHE | 2%k | 450(+320)| 420(+190) 50| 120| 130| 150 160| 400, 410/ 1750/ 3000
g1 3,500 FEUE [ 28k | 450(+320) | 420(+190) 60| 144 156/ 180 192| 480/ 492| 2100/ 3600
R | 3,500) KEYE | 2%k 450 420 50| 120 130| 150| 160| 400/ 410/ 1750/ 3000
b " | 3,500| FE%E | 3%k [450(+320) 380(+170) 60| 144/ 156| 180 192| 480 492/ 2100/ 3600
4 | 3,500 HEHE | 2k | 450(+320) | 420(+190) 60| 144/ 156| 180 192| 480| 492/ 2100/ 3600
AR 3,500 FEAHE | 2%k | 450(+320)| 420(+190) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
@ & | 3,500| A=#E [ 3% | 450(+320)] 380(+170) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
B OWi | 3,500 FE%E | 3% [450(+320) [ 380(+168) 60| 144/ 156| 180 192| 480 492/ 2100/ 3600
s/ 3,500 ARHE | 28k | 350(+320)] 320(+190) 50| 120 130| 150| 192| 480 492| 2100/ 3600
e | 3,500| AZHE [ 3#% | 350(+320)]280(+170) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
¥ M| 3,500( FEHE | 3%% [450(+320) 380(+170) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
BBl 3,500( FEHE | 3% [450(+320) [ 380(+170) 60| 144/ 156| 180 192| 480 492/ 2100/ 3600
T B | 3,500 FEHE | 14k | 450(+320) ] 450(+210) 60| 144 156 180 192| 480 492| 2100/ 3600
RO | 3,500( FE%E | 3%k [450(+320) [ 380(+170) 60| 144 156| 180 192| 480| 492/ 2100/ 3600
B 3,500( FEUE | 3%k [450(+320) [ 380(+170) 60| 144/ 156| 180 192| 480| 492| 2100/ 3600
+ Bl | 3,500 FEHE | 3%k [450(+320) [ 380(+170) 60| 144 156/ 180 192| 480 492| 2100/ 3600
4 % | 3,500| Am#e [ 3#% |350(+320)]280(+170) 60| 144 156 180/ 192| 480, 492/ 2100/ 3600
= 4| 3,500 FEHE | 3%k [450(+320) [ 280(+268) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
o= | 3,500| A=uE [ 3#% | 450(+320)] 380(+170) 60| 144/ 156| 180 192| 480| 492/ 2100/ 3600
T % | 3,500 FEHE | 2%k [350(+320) [ 320(+190) 60| 144/ 156| 180 192| 480 492| 2100/ 3600
# )] 3,500( FE%E | 3%k [450(+320) [ 380(+170) 60| 144 156| 180 192| 480| 492/ 2100/ 3600
W )il | 3,500| A=#e [ 3#% | 450(+320)]380(+170) 60| 144/ 156| 180 192| 480| 492/ 2100/ 3600
WAEN | 3,500 fZ=HE [ 3#% | 350(+320) | 280(+170) 60| 144| 156 180/ 192| 480/ 492| 2100/ 3600
%I 3,500| Amue [ 3#% | 450(+320)] 380(+170) 60| 144 156| 180 192| 480| 492/ 2100/ 3600
EEB | 3,500 FEUE [ 3% | 450(+320)] 380(+170) 60| 144 156| 180 192| 480| 492/ 2100/ 3600
% B | 3,500| FENE | 2#% | 450(+320)| 420(+190) 60| 144/ 156| 180 192| 480 492/ 2100/ 3600
B oJE | 3,500( fEHE | 2%k [450(+320)] 420(+190) 60| 144| 156 180/ 192| 480/ 492| 2100/ 3600
5z | 3,500| A=uE | 3%k | 450(+320)] 380(+168) 60| 144 156| 180 192| 480| 492| 2100/ 3600
IR | 3,500( A% [ 2% | 450(+320) | 420(+190) 60| 144| 156 180/ 192| 480/ 492| 2100/ 3600
A FF ] 3,500 FEUE [ 38k | 450(+320) ] 380(+170) 60| 144 156| 180 192| 480| 492| 2100/ 3600
b 2k | 3,500| =¥ [ 3#% | 450(+320)| 380(+170) 60| 144| 156 180/ 192| 480/ 492| 2100/ 3600

TN 17 ECR I A P R T 0D T 1o 48 - 32 B 0D
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LN B B

B 2 B I - A & B 5 it

y G RER } 7 . r . 2| ER

g g | TR B wn | orRe | ewwe | omw | PR

=]

BAME | BARE| AR | BABE | BAMRE | SRAME | SHBE | AR | BARE
Ao | 8.2%/6.0% 1.40%|  fEuE 1.000.7)% 1501 1009 | 60(A47030) 1 | 60( A 1FV30) M 0.3%
il 8.4% 1.40%|  fEuE 1.2(0.9)% 1501 15019 70 70M 0.3%
N A 4% 1408 ¥ | Lo0.%  150m| 100 A 0.3%
I 8.4% 1.40%|  fEuE 1501 70 0.3%
= B 8.4% 1.40%|  AEuE 150/ 0.3%
&Il B 8.4% 1.40% FEUE 1.000.7)% 250H 90| 70(B #0401 0.3%
A 8.2% 1.40% FE e 1509 509 | 50(H J7030)H 30M 0.3%
I R san|  1aow| e 10O 150 | (g onty 0.3%

T -
5 ¥ saul  1.45% %%fz{%) 1.10.9% 15001 5011 0.3%
PER RN 8.4% 1.40%|  fE%E 1.1% 150 50 0.3(0.15)%
o 8.4% 1.40%  fEue 1.1(0.8)% 150H 0.3%
O 8.4% 1.40%|  fE%E 150 0.3%
NE | 8.4%/6.0% 1.40% FE A 1.0% 150 60 0.3%
i 8.4% 1.40%|  fEue 1.0(0.7)% 100 50 50 0.3%
ESlNE| 8.4% 1.45%|  FE%E 1.1(0.8)% 100 1004 1004 100 0.3%
[=Ill| 8.4% 1.45% e 1.1(0.77)% 150 1004 0.3%
anl| 8.4% 1.40%|  FE%E 1504 1004 0.3%
IR 8.4% 1.45% FE 1.1% 50 0.3%
Sl 8.4% 1.40% FEHE 1.2(0.9)% 1504 0.3%
+ 5l 8.4% 1.40% FEHE 1.000.7)% 1504 70 0.3%
% 8.4% 1.40% FEHE 1504 0.3%
= A 8.4% 1.75% FEHE 1.1(0.7)% 1504 75M 45M
R = 8.4% 1.40% FE 0.3%
T 8.4% 1.40% FEHE 1504 50| ARBiSRR AR S 0.3%
wE 8.4% 1.50% FEHE 50 0.3%
ol 8.4% 1.50% FEHE 1.0% 0.2%
& 8.4% 1.70% FEHE 1.05(0.85)% 150/ 50
% 8.4% 1.40% FEHE 1504 70 0.3%
=R 8.4% 1.40%|  fEuE 1.000.7)% 150 1504 1504 150 0.3%
Wl s.4%|  1.40% FEME | 1.00.D% 300 L] 70 0.3%
O 8.4% 1.40%| e 1.000.7)% 150 100 | FRBisukR 0.3%
JES 4% .40% il ¢ .000.7)% 80(H J740 .3%

= 8.4% 1.40% FEHE 1.000.7)% 300 50 | 80( B J@v40)H 50 0.3%
b= 8.4% 1.40% FEHE 150/ 75M 50 0.3%
KT 8.4% 1.40%|  fEuE 1.2(0.9)% 150 50 0.3%
ik = 8.4% 1.40%|  fEuE 1.0% 150 501

T B0 BRI BL A 1 LW 111 M OF i /B 7 1 B ARG\ U C 70 B — ol A DR T
KENBEFIOBRIL, FFITHEL0H 1A LIRICBHIA T 2 FEFE ),

*GLPERLOD(

INDERSTIE, BRAATF2005 F LU T OB,

* NGBUZHOWT, LT O CIBIRBUE R H £,

P TIE, E BT VI RIS OBRERRT L - JikfE LIS O 1A # 1 X150,

AT BBV AR TENED3,000 LL R OB-A TR BL S0 BR,

RO ANGFUZ20= LT H->—1A6,000H LLF O/ NFAETE 1Akt e¢ 1 X150,
AERITRHETBLCOUNT L BRI — SO TR BB R AR,
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3. FERHRIAZER (BEES +EMERS)

R 304F RER I S B AN2AEE SRS BRAEE
IRAZHEO) | NERL [ A | NEGE | A | NERL [ ARG | NEGL | WAE®%) | &AL

KL 98.8 2 98.9 2 98.3 5 99.0 3 99.0

EZE 96.8 13 96.9 13 95.9 21 96.9 16 97.0 20
N 72.7 35 74.1 35 73.6 35 74.8 35 73.7 35
E i 95.6 23 96.1 20 96.0 19 97.2 14 97.5 13
| 96.9 11 97.6 10 97.3 9 98.2 9 98.4

£ [ 92.6 31 93.7 30 94.7 25 96.6 20 96.9 22
N 96.8 13 97.1 11 96.9 11 97.7 12 97.7 12
b A 96.0 20 96.4 18 96.2 16 96.8 18 97.3 17
A 94.5 26 95.0 25 92.4 29 93.6 31 91.1 32
A AR 96.6 15 97.0 12 96.7 14 97.5 13 97.5 13
& 94.7 25 94.6 26 93.8 27 95.7 27 96.1 26
¥ oW 95.9 22 96.6 16 97.0 10 97.9 11 98.3 10
/N 96.5 17 96.6 16 95.9 21 96.8 18 96.9 22
He ™ 93.0 30 93.2 31 92.3 30 93.5 32 94.1 30
ES 92.6 31 92.8 32 92.6 28 94.3 30 93.3 31
B Al 94.5 26 94.4 27 94.6 26 94.9 28 94.8 29
Ayl 97.9 6 98.1 7 97.8 8 98.3 8 98.3 10
R F 96.9 11 96.7 14 96.8 12 96.5 23 95.9 27
el 96.6 15 96.1 20 95.5 23 96.6 20 97.2 19
£ Bl 97.8 7 99.4 1 99.6 1 99.6 1 99.6

Ea 98.9 1 98.9 2 99.4 2 99.4 2 99.2

= 4% 91.7 33 91.4 33 90.9 33 90.3 33 90.1 33
o= 97.1 10 95.5 23 96.1 18 96.2 26 96.2 25
T % 98.0 4 98.6 4 91.2 32 98.8 6 98.8

Il 89.1 34 89.7 34 89.5 34 89.6 34 89.7 34
) 98.6 3 98.6 4 98.6 3 98.9 4 99.2

HAEN 95.1 24 95.3 24 96.0 19 96.4 24 97.3 17
o 96.0 20 96.2 19 96.2 16 96.3 25 96.4 24
R 96.3 18 96.7 14 96.5 15 97.2 14 97.5 13
il 93.4 28 94.1 28 91.8 31 94.7 29 95.9 27
B RE 97.6 9 97.9 9 98.0 6 98.5 7 98.7

£ 97.8 7 98.0 8 98.0 6 98.2 9 98.5

LIRS 98.0 4 98.4 6 98.4 4 98.9 4 99.0

PERE 93.4 28 94.0 29 95.3 24 96.6 20 97.4 16
it 2 96.2 19 96.0 22 96.8 12 96.9 16 97.0 20
¥ 95.2 95.4 95.0 96.0 96.0

* FI54ED H ARBUE (ltifmE i =)
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